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Löse die Klammern auf und berechne das Endergebnis.
Nebenrechnungen:
1. (5,44 - 0,6)·(8,3 - 0,44) =  38,0424
4,84 · 7,86 =  38,0424


2. (86,2 - 44,12)·(91,9 - 3,4) =  3724,08
		82,08 · 88,9 =  3724,08


3. (73,69 + 0,8)·(52,8 - 0,7) =  3880,929
		74,49 · 52,1 =  3880,929


4. (75,71 + 3,02)·(7,06 - 2,9) =  327,5168
		78,73 · 4,16 =  327,5168


5. (8,54 + 0,25)·(0,35 + 14,4) =  129,6525
		8,79 · 14,75 =  129,6525


6. (88,5 + 0,94)·(8,6 + 0,2) =  787,072
		89,44 · 8,8 =  787,072


7. 8,6·(89,6 - 0,49 + 90,7) =  1546,366
		8,6 · 179,81  =  1546,366


8. 0,2·(8,12 - 2,5 + 59,5) =  13,024
		0,2 · 65,12 =  13,024


9. 0,63·(0,9 + 0,3 + 3,63) =  3,0429
		0,63 · 4,83 =  3,0429


10. 41,62·(45,82 + 4,3 + 0,17) =  2093,0698
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